
NSCL 
Trainee 

Previous Year Paper
(Store)

2019 (Shift 1)



Question Booklet Series :– 
ç'u iqfLrdk J`¡[kyk %& A Question Booklet No. :–

ç'u iqfLrdk la[;k %&

MORNING 
SESSION

44_Trainee (STORE) 
Time Allowed : 2 Hrs.  Total No. of Questions : 100
vuqer le; % 2 ?kaVs ç'uksa dh dqy la[;k % 100

Roll No. : OMR Answer Sheet No. : 
vuqØekad- % ................................................... vks-,e-vkj- mÙkj if=dk la[;k % ...................................................

Name of the Candidate (in capital letters): ..................................................................................................................... 
vH;FkÊ dk uke% 

Signature of the Candidate Signature of the Invigilator 
vH;FkÊ ds gLrk{kj ...................................... d{k fujh{kd ds gLrk{kj ......................................

READ THE FOLLOWING INSTRUCTIONS CAREFULLY  
BEFORE WRITING ANYTHING ON THIS BOOKLET

1. 
questions and there is no misprinting, overprinting and/or any other shortcoming in it. If there is any shortcoming in 
booklet/mistake by invigilator while distributing, intimate the same to your room invigilator and have it changed. No complaint 
in this regard shall be entertained at any later stage. 

2. There will be no negative marking. 

3. This is an objective type test in which each objective question is followed by four responses serialled (1) to (4). Your task is to 
choose the correct/best response and mark your response in the OMR Answer Sheet only and NOT in the Question 
Booklet. 

4. Use Blue/Black Ball Point Pen for all your work on the OMR Answer Sheet. The ovals on the OMR Answer Sheet are to be 
completely filled by Blue/Black Ball Point Pen only. ANSWERS ONCE GIVEN CAN NOT BE CHANGED. 

5. DO NOT scribble or do rough work or make any stray marks on the Answer Sheet. DO NOT wrinkle or fold or staple it. 

6. Use of Calculators, Slide rules, Mobiles, calculator watches or any such devices and any other study/reference material is NOT 
allowed inside the examination hall. Do not bring these articles to the examination hall. 

7. Rough Work is to be done in the blank space provided in the Question Booklet, not on the OMR Answer Sheet. No other 
paper will be allowed/provided for rough work. 

8. The Question Booklet will be in four series (A, B, C and D). You must write correct Question Booklet Series on your OMR 
Answer Sheet. 

9. After completion of examination, you are allowed to take away your question paper and your copy of OMR Sheet 
(Candidate’s copy) Carbon copy. Handover the original copy of OMR to the Invigilator. If you do not hand over, your 
candidature will be cancelled and you will be liable for criminal action. 

10. Take care that you mark only one answer for each question. If more than one answer is given by you for any 
question, the same will not be evaluated. Cutting/overwriting the answers are not allowed. Further questions are bilingual 
(Hindi/English). In case of any variation in Hindi Translation version, English version will be taken as final for evaluation 
purposes. 

fgUnh esa vuqns”k vfUre i`’B ¼Back cover½ ij fn;k x;k gSA



bl iqfLrdk ij dqN Hkh fy[kus ls igys  
fuEufyf[kr funsZ'k /;kuiwoZd i<+sa

1. viuk mÙkj fy[kuk çkjEHk djus ls igys viuh ç'u iqfLrdk dh Hkyh&Hkk¡fr tk¡p dj ysa] ns[k ysa fd vkidks lgh fo|k'kk[kk@in dksM dh iqfLrdk 
feyh gS ,oa blesa 100 ç'u gSa vkSj blesa fçafVax laca/kh vFkok vU; fdLe dh dksbZ deh@d{k fujh{kd }kjk ç'u iqfLrdk ck¡Vus esa xyrh rks ugha 
gSA ;fn fdlh çdkj dh dksbZ deh@xyrh gks rks i;Zos{kd dks lwfpr djsa rFkk iqfLrdk cny ysaA bl lanHkZ esa fdlh Hkh çdkj dh dksbZ f'kdk;r ij 
ckn esa dksbZ fopkj ugha fd;k tk,xkA 

2. _.kkRed vadu ugha gksxkA 

3. ;g ,d oLrqijd fdLe dh ijh{kk gS ftlesa çR;sd ç'u ds uhps Øekad ¼1½ ls ¼4½ rd pkj çLrkfor mÙkj fn;s gSaA vkids fopkj esa tks Hkh mÙkj 
lgh gS mldks vks ,e vkj mÙkj i= esa fpfUgr dhft,A vius mÙkj ç'u iqfLrdk esa u yxk,A 

4. vks-,e-vkj mÙkj if=dk ij lHkh dk;ks± ds fy, uhys@dkys ckWy Iokb±V isu ls fy[ksaA vks-,e-vkj mÙkj if=dk ij vksoy dks iw.kZ :i ls dsoy 
uhys@dkys ckWy Iokb±V isu ls HkjsaA ,d ckj fn, x, mÙkj dks cnyk ugha tk ldrkA 

5. mÙkj&i= ij u rks jQ+ dk;Z djsa u gh vkSj fdlh çdkj dk fu'kku vkfn yxk,a ;k bls eksaM+sA 

6. dsYdqysVj] LykbM:y] eksckbZy]  dsYdqysVj ?kfM+;k¡ ;k bl çdkj dh dksbZ Hkh ;qfä ,oa fdlh Hkh v/;;u@lanHkZ lkexzh vkfn dk ç;ksx ijh{kk d{k esa 
oftZr gSA 

7. jQ+ dk;Z iqfLrdk esa fdlh Hkh [kkyh LFkku esa fd;k tkuk pkfg,] vks-,e-vkj- mÙkj if=dk ij dksbZ Hkh jQ+ dk;Z u djsaA fdlh vU; dkx+t ij bls 
djus dh vuqefr ugha gSA 

8. ç'u iqfLrdk ¼A, B, C, ,oa D½ pkj Jà[kykvksa esa gksxhA vkidks vks-,e-vkj- mÙkj if=dk ij lgh ç'u iqfLrdk Jà[kyk fy[kuk gSA 

9. ijh{kk lekfIr ds i”pkr~ vki viuh ç”u&iqfLrdk ,oa vks-,e-vkj- dh dkcZu dkWih ¼vH;FkÊ ds fy,½ ys tk ldrs gSaA vks-,e-vkj- dh ewy çfr 
dks d{k fujh{kd dks lkSai nsaA ;fn vki ,slk ugha djrs gSaA rks vkidh ik=rk fujLr dj nh tk,xh ,oa vki ij vkijkf/kd dk;Zokgh dh tk,xhA 

10. gj ,d ç'u ds fy, dsoy ,d gh mÙkj bafxr djsaA ,d ls vf/kd mÙkj nsus ij ç'u dk dksbZ vad ugha fn;k tk,xkA mÙkj esa dksbZ Hkh dfVax ;k 
vksojjkbZfVax ekU; ugha gksxhA iqu% ç'u f}Hkk"kh; ¼fgUnh ,oa vaxzsth½ esa gSA fgUnh vuqokn laLdj.k esa fdlh Hkh fHkérk gksus ij ewY;kadu ds fy, vaxzsth 
laLdj.k dks vfUre ekuk tk;sxkA 
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SECTION–A 

1. The depth of sowing seeds of dwarf wheat should be:

(1) 2.0 cm
(2) 4.0 cm
(3) 6.0 cm
(4) 8.0 cm

1. ckSus xsgw¡ ds cqokbZ esa cht dh xgjkbZ gksuh pkfg,%

(1) 2.0 lseh-
(2) 4.0 lseh-
(3) 6.0 lseh-
(4) 8.0 lseh-

2. The place of origin of pearl millet is:

(1) Africa
(2) Canada
(3) U. S. A.
(4) Japan

2. cktjk dk mRifÙk LFkku gS%

(1) vfÝdk
(2) dukMk
(3) ;w- ,l- ,-
(4) tkiku

3. Weedicide controlling Phalaris minor in wheat crop is:

(1) Atrazin
(2) Isoproturon
(3) Paraquat
(4) 2, 4–D

3. [kjirokj uk”kh jlk;u tks xsgw¡ dh Qly esa xsgw¡lk fu;af=r djrk gS%

(1) ,Vªkthu
(2) vkbZlksçksVqjku
(3) iSjkDokV
(4) 2&4&Mh

4. Time of transplanting Boro paddy is:

(1) March (2) July
(3) August (4) December

4. cksjks /kku dh jksikbZ dk le; gS%

(1) ekpZ (2) tqykbZ
(3) vxLr (4) fnlEcj

5. Scented variety of rice is:

(1) I R –24
(2) Narendra –1
(3) Saket –4
(4) Kasturi

5. /kku dh lqxfU/kr çtkfr gS%

(1) vkbZ&vkj &24
(2) ujsUæ &1

(4) dLrqjh

6. Kernal of groundnut contains oil percentage of:

(1) 20 (2) 32
(3) 48 (4) 64

6. ew¡xQyh ds fxjh esa rsy çfr”kr gS%

(1) 20 (2) 32
(3) 48 (4) 64

7. Optimum diameter of potato tuber for seed is:

(1) 1.5 cm. (2) 2.5 cm.
(3) 4.5 cm. (4) 5.5 cm.

7. cht ds fy, vkyw dUn dk lkekU; C;kl gS%

(1) 1.5 lseh- (2) 2.5 lseh-
(3) 4.5 lseh- (4) 5.5 lseh-

8. First irrigation in dwarf wheat is scheduled at:

(1) 10–15 DAS
(2) 20–25 DAS
(3) 35–40 DAS
(4) 50–55 DAS

8. ckSus xsgw¡ esa çFke flapkbZ fu/kkZfjr gS%

(1) 10–15 fnu cqokbZ ckn
(2) 20–25 fnu cqokbZ ckn
(3) 35–40 fnu cqokbZ ckn
(4) 50–55 fnu cqokbZ ckn

9. Which of the following nutrients is beneficial but not
essential to plants?

(1) Calcium (2) Sodium
(3) Iron (4) Boron

9. fuEufyf[kr iks’kdrRoksa esa dkSu rRo ikS/kksa ds fy, vko”;d u gksrs
gq;s Hkh ykHknk;d gS\

(1) dSfY”k;e (2) lksfM;e
(3) yksgk (4) cksjku

10. Plant nutrient increasing disease resistance in plants
is:

(1) Nitrogen
(2) Phosphorus
(3) Potassium
(4) None of these

10. ikS/kksa esa jksx jksf/krk o`f) gsrq ikni iks’kd rRo gS%

(1) u=tu
(2) QklQksjl
(3) iksVSf”k;e
(4) buesa ls dksbZ ugha
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11. Soil structure appropriate for crop production is:

(1) Columnar (2) Oblique
(3) Granular (4) Compact

11. QlyksRiknu gsrq mi;qä e`nk foU;kl gS%

(1) LrEHkkdkj (2) fr;Zd
(3) df.kdke; (4) ln`ar

12. Suitable day temperature for growth of main Rabi
crops is:

(1) 5 – 6°C (2) 6 – 8°C
(3) 8 – 10°C (4) 27 – 29°C

12. eq[; jch Qlyksa ds o`f) gsrq fnu dk mi;qä rkiØe gS%

(1) 5 – 6°C (2) 6 – 8°C
(3) 8 – 10°C (4) 27 – 29°C

13. Essential micro-nutrient is:

(1) Potassium
(2) Calcium
(3) Sulphur
(4) Manganese

13. vko”;d lw{e iks’kd rRo gS%

(1) iksVSf”k;e
(2) dSfY”k;e
(3) xU/kd
(4) eSxuht

14. Form of zinc adsorbed by plants is:

(1) Zn+ 

(2) Zn++

(3) Zn+++ 

(4) None of These

14. ikS/kksa }kjk vf/k”kksf’kr tLrk dk :i gS%

(1) Zn+ 

(2) Zn++

(3) Zn+++

(4) buesa ls dksbZ ugha

15. Symbiotic bacteria is:

(1) Azotobactor
(2) Algae
(3) Fungi
(4) Rhizobium

15. lgthoh thok.k¡q gS%

(1) ,tksVksoSDVj
(2) “kSoky
(3) dod
(4) jkbtksfc;e

16. Green manure crop providing maximum nitrogen is:

(1) Moong (2) Guar
(3) Sanai (4) Lobia

16. gjh [kkn dh Qly ftlls vf/kdre u=tu çkIr gksrk gS%

(1) ew¡x (2) Xokj
(3) lubZ (4) yksfc;k

17. Material used to control acidity in decomposition of
compost is:

(1) Urea
(2) Ammonium sulphate
(3) Potassium sulphate
(4) Lime

17. dEiksLV ds lM+ko esa vEyrk fu;a=.k gsrq ç;ksx fd;s tkus okyk inkFkZ
gS%

(1) ;wfj;k
(2) veksfu;e lYQsV
(3) iksVSf”k;e lYQsV
(4) pwuk

18. Proper method of crop production against slope is:

(1) Crop rotation
(2) Strip cropping
(3) Dry farming
(4) None of these

18. <ky ds foijhr QLyksRiknu dh mfpr fof/k gS%

(1) Qly pØ
(2) iêhnkj [ksrh
(3) “kq’d [ksrh
(4) buesa ls dksbZ ugha

19. Percentage of sand in clay soil is:

(1) 80% (2) 70%
(3) 50% (4) 30%

19. fpduh e`nk esa ckyw dk çfr“kr gS%

(1) 80% (2) 70%
(3) 50% (4) 30%

20. Proper method of application of DAP is:

(1) Broad casting
(2) Seed mixed
(3) Solution form
(4) Below seed in furrow

20. Mh- ,- ih- ds ç;ksx dh mfpr fof/k gS%

(1) fNVd dj
(2) cht esa feykdj
(3) ?kksy ds :i esa
(4) cht ds uhps dwM+ksa esa
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21. Best method of irrigation in wheat from canal is:

(1) Flooding
(2) Check–basin
(3) Ring method
(4) Border strip method

21. ugj ls xsg¡w dh lcls vPNh flapkbZ fof/k gS%

(1) çokg
(2) D;kjh fof/k
(3) v¡xqBh fof/k
(4) lhekUr iêh fof/k

22. Proper time to use simazine for control of weeds in
sugarcane is:

(1) Before planting (2) Before germination
(3) After germination (4) None of these

22. xUuk esa [kjirokj fu;a=.k gsrq flekthu ds ç;ksx dk mfpr le; gS%

(1) yxkus ds igys (2) teko ds igys
(3) teko ds ckn (4) buesa ls dksbZ ugha

23. Suitable soil for plant growth is:

(1) Sandy (2) Loamy
(3) Clay loam (4) Clayey

23. ikS/k o`f) gsrq mfpr e`nk gS%

(1) cyqbZ (2) nkseV
(3) fpduh nkseV (4) fpduh

24. Steel used in construction of agricultural implements is:

(1) Mild steel
(2) High carbon steel
(3) Soft centre steel
(4) All of these

24. Ñf’k ;U=ks esa ç;ksx gksus okyk Likr%

(1) e`n Likr
(2) mPp dkcZu Likr
(3) e`n lsUVj Likr
(4) mi;qZä lHkh

25. Plough clearance is:

(1) Distance under the Beam to ground
(2) The amount of grass cleared under the Beam
(3) The curvature of the Beam
(4) Depth of the furrow

25. gy dh fDy;jsUl gksrh gS%

(1) gfjl ds uhps Hkwfe rd dh nwjh
(2) gfjl ds uhps lkQ dh xbZ ?kkl
(3) gfjl dk xksykdkj ?kqeko
(4) dw¡M+ dh xgjkbZ

26. Scraper is used for:

(1) Ploughing small fields
(2) Taking soil from one place to another
(3) Levelling
(4) Grass cutting

26. [kqjpuh dk ç;ksx fd;k tkrk gS%

(1) NksVs [ksrksa esa tksrkbZ djus ds fy;s
(2) feêh ,d LFkku ls nwljs LFkku ys tkus ds fy,
(3) lery djus
(4) ?kkl dkVus

27. Interculture of crops is done for:

(1) Aeration of soils
(2) Uprooting of grasses
(3) Conserving moisture
(4) All of these

27. vUr% Ñf’k fd;k tkrk gS%

(1) feêh esa gok dk lapkj djus gsrq
(2) ?kkl m[kkM+us gsrq
(3) ueh dk laj{k.k djus gsrq
(4) mi;qZä lHkh

28. Sahiwal cow has which one body coat colour among
the following?

(1) Red
(2) White
(3) Black
(4) Black with white patches

28. fuEu esa ls dkSu&lk jax lkghoky xk; ds “kjhj dk gksrk gS%

(1) yky
(2) lQsn
(3) dkyk
(4) dkys ij lQsn /kCcs

29. Breeding tract of Jamunapari goat is which one among
the following?

(1) Chaker Nagar (2) Chamba
(3) Madhuwani (4) Aligarh

29. tequkikjh cdjh dk çtuu {ks= fuEu esa ls dkSu lk gS\

(1) pdj uxj (2) pEck
(3) e/kqouh (4) vyhx<+

30. Which one is an exotic breed of sheep?

(1) Bikaneri (2) Gaddi
(3) Kathiawari (4) Merino

30. fuEu esa ls dkSu lh fons”kh uLy dh HksM+ gS\

(1) chdkusjh (2) xíh
(3) dkfB;kokM+h (4) esfjuks
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31. Edible part of Knol Khol is:

(1) Modified leaf
(2) Modified flower
(3) Modified stem
(4) Modified root

31. xk¡B xksHkh dk [kkus okyk Hkkx gS%

(1) ifjofrZr iÙkh
(2) ifjofrZr Qwy
(3) ifjofrZr ruk
(4) ifjofrZr tM+

32. Seed–rate of main season onion/ha is:

(1) 2–4 Kg
(2) 5–7 Kg
(3) 8–10 Kg
(4) 11–12 Kg

32. I;kt ds eq[; Qly dk cht&nj gS%

(1) 2–4 Kg
(2) 5–7 Kg
(3) 8–10 Kg
(4) 11–12 Kg

33. Banarasi Karaka is a variety of:

(1) Banana
(2) Brinjal
(3) Bottle gourd
(4) Ber

33. cukjlh dM+kdk çtkfr gS%

(1) dsyk
(2) cSxu
(3) ykSdh
(4) csj

34. Nitrogen requirement of banana/plant is:

(1) 200 g. (2) 400 g.
(3) 600 g. (4) 800 g.

34. dsys ds fy;s çfr ikS/kk u=tu pkfg;s%

(1) 200 xzke (2) 400 xzke
(3) 600 xzke (4) 800 xzke

35. Arka Harit is a variety of:

(1) Bottle gourd (2) Sponge gourd
(3) Bitter gourd (4) Musk–melon 

35. vdkZ gfjr fdldh çtkfr gS%

(1) ykSdh (2) rksjbZ
(3) djsyk (4) [kjcwtk

36. ‘Banana Sweet’ is a variety of:

(1) Chilli (2) Musk-melon
(3) Apple (4) Banana

^cukuk LohV* fdlh çtkfr gS%

(1) fepZ (2) [kjcwtk
(3) lsc (4) dsyk

37. Musk-melon in north India is sown in:

(1) February-March
(2) April-May
(3) June-July
(4) August-September

37. mÙkj Hkkjr esa [kjcwtk cksus dk le; gS%

(1) Qjojh&ekpZ
(2) vçSy&ebZ
(3) twu&tqykbZ
(4) vxLr&flrEcj

38. Seed-rate of bottle gourd for summer crop is:

(1) 2–3 Kg/ha.
(2) 4–5 Kg/ha.
(3) 6–7 Kg/ha.
(4) 8–9 Kg/ha.

38. xzh’e dkyhu ykSdh dk cht&nj gS%

(1) 2–3 fd-xzk-@gs-
(2) 4–5 fd-xzk-@gs-
(3) 6–7 fd-xzk-@gs-
(4) 8–9 fd-xzk-@gs-

39. Family of carrot is:

(1) Umbelliferae
(2) Solanaceae
(3) Cruciferae
(4) Apiaceae

39. xktj dk okuLifrd dqy gS%

(1) vEcsyhQsjh
(2) lksysuslh
(3) Øwlh Qsjh
(4) ,fi,lh

40. The average yield of turnip/ha. is:

(1) 50–150 Q.
(2) 150–250 Q.
(3) 250–350 Q.
(4) 350–450 Q.

40. “kyte dk mit ¼vkSlr½ çfr gs- gksrk gS%

(1) 50–150 dq-
(2) 150–250 dq-
(3) 250–350 dq-
(4) 350–450 dq-

S K" YouTube Channel
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41. Serious damage due to shoot and fruit borer is in:

(1) Okra
(2) Turnip
(3) Chillies
(4) Brinjal

41. ruk rFkk Qy cs/kd ls vf/kd gkfu fdlesa gksrh gS%

(1) fHk.Mh
(2) “kyte
(3) fepZ
(4) cSxu

42. Cauli flower originated in:

(1) Cyprus
(2) China
(3) India
(4) Australia

42. Qwy xksHkh dk mRifÙk LFkku gS%

(1) lkbçl
(2) phu
(3) Hkkjr
(4) vkLVªsfy;k

43. Nitrogen fertilizer in tomato should be applied as:

(1) Total fertilizer prior to transplanting
(2) Total fertilizer after transplanting
(3) 50% fertilizer prior to transplanting & 50% one month

after
(4) 50% fertilizer prior to transplanting & 50% at first

harvest

43. VekVj esa moZjd nsus dh fof/k gS%

(1) iwjk moZjd jksi.k ds iwoZ
(2) iwjk moZjd jksi.k ds ckn
(3) 50% moZjd jksi.k ds iwoZ rFkk 50% ,d ekg ckn
(4) 50% moZjd jksi.k ds iwoZ rFkk 50% igyh rqM+kbZ ds le;

44. Pride of India is a variety of:

(1) Turnip
(2) Cauliflower
(3) Knol Khol
(4) Cabbage

44. ^çkbZM vkWQ bf.M;k* fdldh çtkfr gS%

(1) “kyte
(2) QwyxksHkh
(3) xk¡B xksHkh
(4) ikr xksHkh

45. Botanically litchi fruit is a:

(1) Nut (2) Pome
(3) Berry (4) Drupe

okuLifrd :i ls yhph dk Qy gS%

(1) uV (2) ikse
(3) csjh (4) Mªwi

46. Kalmegh is a variety of:

(1) Sponge gourd
(2) Brinjal
(3) Pea
(4) Sweet Potato

46. dky es?k fdldh çtkfr gS%

(1) rksjbZ
(2) cSxu
(3) eVj
(4) “kdj dUn

47. Excretory material of insect is:

(1) Urea (2) Alanese
(3) Uric acid (4) Ammonia

47. dhV dk mRlthZ inkFkZ gS%

(1) ;wfj;k (2) ,Sysuht
(3) ;wfjd ,flM (4) veksfu;k

48. Ligament joins:

(1) To muscles from bone
(2) Muscle to muscle
(3) Bone to bone
(4) Muscle to cartilage

48. fyxkesUV tksM+rk gS%

(1) is”kh dks gìh ls
(2) is”kh dks is”kh ls
(3) gìh dks gìh ls
(4) is”kh dks mikfLFk ls

49. Silver fish is:

(1) Insect (2) Mollusc
(3) Crustacean (4) Fish

49. jtr ¼Silver½ eNyh gksrh gS%

(1) dhV (2) eksyLd
(3) ØLVsf”k;k (4) eNyh

50. The main enzyme present in gastric juice is:

(1) Lipase
(2) Nuclease
(3) Amylase
(4) Pepsin

50. tBj jl esa mifLFkr çeq[k ,Utkbe gSa%

(1) ykbist
(2) U;qfDy,t+
(3) ,ekbyst
(4) isfIlu
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51. Which is mismatched:

(1) Lepidoptera – Butterfly
(2) Hemiptera – Termite
(3) Coleoptera – Beetle
(4) Apterygota – Lepisma

51. dkSu&lk lqesfyr ugha gS%

(1) ysfiMksIVsjk & frryh
(2) gsfeIVsjk & nhed
(3) dksfy;ksIVsjk & fcfVy
(4) ,VsjhxksVk & ysihLek

52. Which of following is not warm blooded animal:

(1) Snake (2) Rat
(3) Bulbul (4) Kangaroo

52. fuEu esa ls dkSu&lk tUrq m’.k jä okyk ugha gS%

(1) lk¡i (2) pwgk
(3) cqycqy (4) daxk:

53. Brunners glands are situated in the:

(1) Tongue
(2) Duodenum
(3) Small Intestine
(4) Liver

53. czwuj xzfUFk;ka fdlesa gksrh gSa%

(1) ftºok
(2) fMvksMsue
(3) NksVh vk¡r
(4) fyoj

54. Which of the following does not possess red blood:

(1) Earth worm (2) Snake
(3) Fish (4) Cockroach

54. fdlesa yky jä ugha gksrk%

(1) dspqvk (2) lk¡i
(3) eNyh (4) dkdjksp

55. Which animal does not possess four chambered heart:

(1) Man (2) Horse
(3) Rabbit (4) Fish

55. fdl tUrq esa pkj dks’Vd okyk ân; ugha gS%

(1) euq’; (2) ?kksM+k
(3) [kjxks”k (4) eNyh

56. In Haber’s process for the manufacture of ammonia,
the catalyst used is:

(1) Finely divided Ni
(2) Finely divided Fe
(3) Finely divided Platinum
(4) Finely divided calcium

56. gScj fof/k }kjk veksfu;e ds fuekZ.k esa mRçsjd dk dk;Z djrk gS%

(1) ckjhd fufdy

(3) ckjhd IySfVue
(4) ckjhd dSfY”k;e

57. The formula of gypsum is:

(1) MgSO4.2H2O
(2) CaSO4.2H2O
(3) 2CaSO4

(4) CaSO4.3H2O

57. ftIle dk lw= gS%

(1) MgSO4.2H2O
(2) CaSO4.2H2O
(3) 2CaSO4

(4) CaSO4.3H2O

58. The IUPAC name of the compound “CH2 = CH2” is:

(1) Butane–1
(2) Hexane–1
(3) Decene–1
(4) Ethene–1

58. ßCH2 = CH2Þ ;kSfxd dk IUPAC uke gS%

(1) C;wVsu&1
(2) gsDlsu&1
(3) Msdsu&1
(4) bFksu&1

59. The division of nucleus is known as: 

(1) Cytokinesis
(2) Karyokinesis
(3) Anaphase
(4) Metaphase

59. dsUæ dk foHkktu dgykrk gS%

(1) lkbVksdkbusfll
(2) dSfj;ksdkbusfll
(3) i”pkoLFkk
(4) e/;koLFkk

60. A true fruit develops from:

(1) Only thalamus
(2) Only nucellus
(3) Only ovary
(4) Only ovule

60. ,d okLrfod Qy fodflr gksrk gS%

(1) dsoy iq’iklu ls
(2) dsoy chtk.Mdk; ls
(3) dsoy v.Mk”k; ls
(4) dsoy chtk.M ls
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61. Meiotic division takes place in:

(1) Leaf (2) Stem
(3) Flower (4) Root

61. v)Zlw=h foHkktu gksrk gS%

(1) iÙkh esa (2) ruk esa
(3) iq’i esa (4) tM+ esa

62. Vessels, tracheids, wood fibres and wood parenchyma
are the components of:

(1) Xylem
(2) Phloem
(3) Medullary rays
(4) Cortex

62. cfgdk;sa] cfgfudk;sa] dk’B rarq vkSj dk’B e`nwrd vo;o gSa%

(1) nk: ds
(2) ¶yks;e ds
(3) esMqyjh fdj.kksa ds
(4) dkVsZDl ds

63. The stomata are shrunken in:

(1) Hydrophytes
(2) Mesophytes
(3) Xerophytes
(4) Halophytes

63. LVksesVk /k¡ls gksrs gSa%

(1) tyksn~fHkn esa
(2) e/;ksn~fHkn esa
(3) “kq’dksn~fHkn esa
(4) yo.kksn~fHkn esa

64. In green plants, photosynthesis occurs in:

(1) Ribosomes
(2) Mitochondria
(3) Chloroplasts
(4) Nucleus

64. gjs ikS/kksa esa çdk”k la”ys’k.k gksrk gS%

(1) jkbZckslksEl esa
(2) ekbVksdkfUMª;k esa
(3) gfjed.kdksa esa
(4) dsUæd esa

65. Which one is a short day plant:

(1) Tomato (2) Pepper
(3) Soybean (4) Sunflower 

65. dkSu&lk vYi çdk”kh; ikS/kk gS%

(1) VekVj (2) fepZ
(3) lks;kchu (4) lw;Zeq[kh

66. The edible part of coconut is:

(1) Epicarp
(2) Mesocarp
(3) Endosperm
(4) Endocarp

66. ukfj;y dk [kk| vo;o gS%

(1) QyfHkÙkh
(2) e/;fHkÙkh
(3) Hkzw.kiks’k
(4) vUr%fHkÙkh

67. When phloem and cambuim are present on both sides
of xylem, the vascular bundle is called as:

(1) Radial
(2) Collateral
(3) Bicollateral
(4) Concentric

67. tc ¶yks;e vkSj dSfEc;e tkbye ¼nk:½ ds nksuksa vksj gksrs gSa rks
lEcgu c.My dgk tkrk gS%

(1) v)ZC;klh
(2) dkSysVjy
(3) ckbdksySVsjy
(4) ladsUæh

68. Name the family of watermelon:

(1) Malvaceae
(2) Leguminosae
(3) Cucurbitaceae
(4) Crucifereae

68. rjcwt ds dqy dk uke crkb,%

(1) ekyoslh
(2) ysX;wfeukslh
(3) dqdqjfcVslh
(4) ØwlhQsjh

69. Oryza sativa is the botanical name of:

(1) Maize (2) Rice
(3) Potato (4) Tomato

69. vksjkbtk lSfVok okuLifrd uke gS%

(1) eôk dk (2) /kku dk
(3) vkyw dk (4) VekVj dk

70. The nitrogen fixing bacterium is:

(1) Escherichia
(2) Diplococcus
(3) Azotobacter
(4) Hemophilus

70. u=tu fLFkjhdj.k thok.kq gS%

(1) ,Lpsfjfp;k
(2) fMIyksdkDl
(3) vtksVksoSDVj
(4) fgeksfQyl



SECTION–B 

71. 1085 books can be packed in a carton. If the no. of
cartons is 90 then how many books are needed to
pack all the cartons?

(1) 10770
(2) 97965
(3) 34390
(4) 97650

71. 1085 fdrkcsa ,d dkVwZu esa iSd fd;k tk ldrk gSA ;fn dkVwZu dh
la[;k 90 gS rks lHkh dkVwZu dks iSd djus ds fy;s fdruh fdrkcksa dh
vko”;drk iM+sxh\

(1) 10770
(2) 97965
(3) 34390
(4) 97650

72. What will happen to the area of a rectangle if its length
is doubled and breadth is tripled?

(1) 5 times more the area of the old rectangle
(2) Area will remain the same
(3) 6 times less the area of the old rectangle
(4) 6 times more the area of the old rectangle

72. vk;r dk {ks=Qy D;k gks tk;sxk ;fn bldh yEckbZ nqxquh ,oa pkSM+kbZ
frxquh dj nh tk,\
(1) iqjkuh vk;r ds {ks=Qy dk 5 xquk T;knk
(2) {ks=Qy ogh jgsxk
(3) iqjkuh vk;r ds {ks=Qy dk 6 xquk de
(4) iqjkuh vk;r ds {ks=Qy dk 6 xquk T;knk

73. A farmer borrowed ` 2400 at 12% interest per annum.

At the end of 
2
12  years, he cleared his account by

paying ` 1200 and a cow. What is the cost of the cow?

(1) ` 3120
(2) ` 2350
(3) ` 1920
(4) ` 2120

73. ,d fdlku us 2400 #i, 12 çfr”kr dh nj ls m/kkj fy;kA
2
12

o’kZ ds vUr esa 1200 #i, ,oa ,d xk; nsdj mlus viuk fglkc 
pqdrk fd;kA xk; dh dher D;k Fkh\ 

(1) ` 3120
(2) ` 2350
(3) ` 1920
(4) ` 2120

74. 55% of the population of a town are males. If the total
population is 64100, the population of females is:

(1) 35255
(2) 28845
(3) 30295
(4) 29835

74. ,d dLcs dh tula[;k dk 55 çfr”kr iq:’k gSaA ;fn dqy tula[;k
64100 gS] rks efgykvksa dh tula[;k D;k gksxh%

(1) 35255
(2) 28845
(3) 30295
(4) 29835

75. The incomes of A and B are in the ratio 3:2 and their
expenditure are in the ratio 5:3. If each saves Rs. 1000,
A’s income is:

(1) ` 4000 (2) ` 5500
(3) ` 6000 (4) ` 3500

75. A ,oa B dh vk; dk vuqikr 3:2 gS ,oa muds [kpks± dk vuqikr
5:3 gSA ;fn çR;sd 1000 #i, dh cpr djrs gSa rks A dh vkenuh
fdruh gksxkh\

(1) ` 4000 (2) ` 5500
(3) ` 6000 (4) ` 3500

76. 5625÷75+√x=96. Find x.

(1) 361 (2) 400
(3) 441 (4) 484

76. 5625÷75+√x=96. x dk eku Kkr djsa%

(1) 361 (2) 400
(3) 441 (4) 484

77. What is the eligibility criteria for age for election as
vice President of India?

(1) Should have completed the age of 35 years
(2) Should have completed the age of 30 years
(3) Should have completed the age of 25 years
(4) Should have completed the age of 32 years

77. Hkkjr ds mi&jk’Vªifr ds pquko gsrq mez dk vgZrk ekun.M D;k gS\

(1) 35 o’kZ dh vk;q iw.kZ gksuh pkfg,
(2) 30 o’kZ dh vk;q iw.kZ gksuh pkfg,
(3) 25 o’kZ dh vk;q iw.kZ gksuh pkfg,
(4) 32 o’kZ dh vk;q iw.kZ gksuh pkfg,

78. Which of the following was not written by Kalidas?

(1) Kumar Sambhavam
(2) Laghujatakam
(3) Meghdootam
(4) Raghuvansham

78. fuEufyf[kr esa dkSu&lk dkfynkl }kjk ugha fy[kk x;k gS%

(1) dqekj laHkoe
(2) y?kqtkrde
(3) es?knwre
(4) j?kqoa”ke
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79. The term “Bull” and “ Bear” is related to:

(1) Share Market
(2) Horse Racing
(3) Taxation
(4) International Trading

79. in ßrstfM+;kÞ rFkk ßeanfM+;kÞ fdlls lEcfU/kr gS%

(1) “ks;j cktkj
(2) ?kqM+&nkSM+
(3) dj
(4) vUrjkZ’Vªh; O;kikj

80. Recently Padam Bhushan was awarded to which two
sportsperson:

(1) M.S. Dhoni & Kidambi Srikanth
(2) M.S. Dhoni & Pankaj Advani
(3) M.S. Dhoni & Somdev Devvarman
(4) M.S. Dhoni & Virat Kohli

80. gky gh esa fdu nks f[kykM+h;ksa dks ine~ Hkw’k.k iqjLdkj fn;k x;k%

(1) ,e-,l- /kksuh ,oa fdnkEch JhdkUFk
(2) ,e-,l- /kksuh ,oa iadt vkMokuh
(3) ,e-,l- /kksuh ,oa lksenso nsokjeZu
(4) ,e-,l- /kksuh ,oa fojkV dksgyh

81. A stick immersed in water appears bent due to the
phenomenon of:

(1) Reflection of light
(2) Diffraction of light
(3) Refraction of light
(4) Dispersion of light

81. ikuh esa MwcksbZ ,d NM+h fdl lao`fr ds dkj.k eqM+h gqbZ çrhr gksrh gS%

(1) çdk”k dk ijkorZu
(2) çdk”k dk foorZu
(3) çdk”k dk viorZu
(4) çdk”k dk çdh.kZ

82. Rovers cup is associated with

(1) Badminton (2) Cricket
(3) Hockey (4) Football

82. jksolZ di fdlls lEcfU/kr gS%

(1) cSMfeUVu (2) fØdsV
(3) gkWdh (4) QqVckWy

83. If ‘MEDICAL’ is written as ‘DEMILAC’ how is
‘SUBJECT’ written is that code?

(1) BUSJETC
(2) BUSTCTE
(3) BUSJTCE
(4) BUJSCTE

83. ;fn ^MEDICAL* dks ^DEMILAC* fy[kk tkrk gS rks mlh dksM esa
^SUBJECT* dks D;k fy[kk tk;sxk\

(2) BUSTCTE
(3) BUSJTCE
(4) BUJSCTE

DIRECTIONS: In the following question find the one which is 
different from the rest. 
84.  

(1) Sun (2) Venus
(3) Saturn (4) Mars

funsZ”k% fuEufyf[kr ç”u esa mls Kkr djsa tks nwljksa ls fHké gksaA 

84.  

(1) lw;Z (2) cq/k
(3) “kfu (4) eaxy

DIRECTIONS: Some equations are solved on the basis of a certain 
system. On the same basis, find out the correct answer from 
amongst the four alternatives for the unsolved equations in both 
these questions. 
85. a = 11 (242) 121

b = 14 (392) 196
c = 13 (?) 169

(1) 182 (2) 338
(3) 2197 (4) 3196

funsZ’k% dqN lehdj.k fdlh fuf’pr i)fr ds vk/kkj ij gy fd, x, gSaA 
mlh dks vk/kkj ekurs gq, uhps nksuksa ç”uksa esa fcuk gy fd, x, lehdj.k 
ds fy, uhps pkj fodYiksa ls lgh mÙkj pqusaA 
85. a = 11 (242) 121

b = 14 (392) 196
c = 13 (?) 169

(1) 182 (2) 338
(3) 2197 (4) 3196

86. Three views of a cube following a particular motion are
given below:

What is the letter opposite to A? 
(1) M (2) P
(3) B (4) H

86. ?ku tks fd ,d fof”k’V xfr esa gSa muds rhu n`”; uhps fn;s x, gSa%

A ds foijhr dkSu&lk v{kj gS\ 

(1) M (2) P
(3) B (4) H
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87. Find the number in the given figure at question mark
place from the given responses.

(1) 16 (2) 26
(3) 36 (4) 39

87. fn;s fodYiksa ls fp= esa fn;s x, ç”uokpd fpUg ds LFkku ij la[;k
crk,aA

(1) 16 (2) 26
(3) 36 (4) 39

88. Among school teacher, find out science teacher who
is the member of examination board.

(1) 5 (2) 7
(3) 4 (4) 6 

88. fo|ky; f”k{kd esa ls foKku ds f”k{kd crk,a tks ijh{kk cksMZ dk
lnL; gSA

(1) 5 (2) 7
(3) 4 (4) 6

89. Which of the following commands is given to reboot
the computer? 

(1) Ctrl + Alt + Del
(2) Ctrl + Alt + Tab
(3) Ctrl + Shift + Del
(4) Ctrl + Alt + shift

daI;wVj dks jhcwV djus ds fy, fuEu esa ls dkSulh dekaM nh tkrh gS\

(1) Ctrl + Alt + Del
(2) Ctrl + Alt + Tab
(3) Ctrl + Shift + Del
(4) Ctrl + Alt + shift

90. What is the extension used for batch files:

(1) .obj (2) .dat
(3) .bas (4) .bat

90. cSp QkbZy ds fy, dkSu&lk ,DlVsU'ku ç;qä gksrk gS%

(1) .obj (2) .dat
(3) .bas (4) .bat

91. A half byte is known as:

(1) Nibble
(2) Data
(3) Bit
(4) None of these

91. gkQ ckbZV dks tkuk tkrk gS%

(1) fuCcy
(2) MkVk
(3) fcV
(4) buesa ls dksbZ ugha

92. What do you press to enter the current date in a cell?

(1) CTRL +; (semicolon)
(2) CTRL + SHIFT + :(colon)
(3) CTRL + F10
(4) CTRL + F11

92. fdlh lsy esa vkt dh rkjh[k ntZ djus ds fy, vki D;k nckrs gSa\

(1) CTRL +; (semicolon
(2) CTRL + SHIFT + :(colon)
(3) CTRL + F10
(4) CTRL + F11

93. A shift register is a:

(1) Random-access memory
(2) Sequentially accessed memory
(3) Read-only memory
(4) Content-addressable memory

93. ,d f'k¶V iath gS%

(1) ;kn`fPNd vfHkxe Le`fr
(2) vuqØfer vfHkxfer Le`fr
(3) i<+s&dsoy Le`fr
(4) vUroZLrq irk ;ksX; HkaMkj.k
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94. Conceptually, the circuitry of a central processing unit
(CPU) can be subdivided into two major sub-units.
Which one of the following units would perform the
required arithmetic and comparison operations:

(1) ALU
(2) Control unit
(3) RAID unit
(4) Fuzzy logic unit

94. ladYiukRed :i ls dsUæh; lalk/ku ,dd ¼CPU½ dh ifjiFkrk dks
nks çeq[k mi&,ddksa esa mi&foHkkftr fd;k tk ldrk gSA fuEukafdr
,ddksa esa ls dkSu lk ,dd okafNr vadxf.kr rFkk rqyukRed çpkyu
djsxk%
(1) ALU
(2) fu;U=.k ,dd
(3) RAID ,dd
(4) Qth rdZ ,dd

GENERAL ENGLISH 

DIRECTIONS: Choose the correct passive voice of the sentence given in the question. 

95. Deepa swept the floor yesterday:

(1) The floor is swept by Deepa yesterday.
(2) The floor was swept by Deepa yesterday.
(3) The floor had been swept by Deepa yesterday.
(4) The floor was being swept by Deepa yesterday

DIRECTIONS: Choose the correct preposition and fill in blanks. 

96. Ram killed the snake .......... a stone: 

(1) By
(2) With
(3) From
(4) Through

97. He is superior ........ me: 

(1) Than
(2) To
(3) From
(4) With

DIRECTIONS: The following idioms is followed by alternative meanings of which one is correct. Write the correct option. 

98. A storm in a tea cup:
(1) Great noise
(2) A danger signal
(3) Unexpected event
(4) Much excitement over something trivial

DIRECTIONS: Fill in the blank in the following using the correct article. 

99. ........ man who is standing there is Mohan’s uncle:
(1) A
(2) An
(3) The
(4) None of these

100. Find the correctly spelt words.

(1) Attention
(2) Attantion
(3) Attension
(4) Attenson 

DIRECTIONS: Choose the correct preposition and fill in blanks.
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